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+ Is the circuit self correcting?
- A self-correcting circuit is one that, if it

enters an unused or invalid state (due to noise,
glitches, or other errors), can transition back
to a valid state without external intervention.

This is typically achieved by defining explicit
transitions for all unused states to ensure the
circuit returns to a valid state.
eg: unused state 000:
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Synchronous counters

A sequential circuit that goes through a predefined sequence of

States upon application of input pulses is called a counter.

Counters are useful for generating timing sequences to control

operations in a digital system. No external input, no external output.

eg. 1 → 2 → 3 4 5 6 7
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A T flip flop is
generally considered to
be the better choice
for building
Synchronous Counters
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